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‘The fi igures in the nght—hand margin indicate marks
Candzdates are required to give their answers in
their own words as fal as practicable.

1. Answer any ten questions: . 2x10=20
-G v s B G 2 o
a) Draw indifference curves for perfectly
substitute and perfectly complementary goods.
Sooje{ 9136 @ Aol ARIefee TR e Ao ®
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b) When does an economic problem arise?
| U AT ETIR TEI &
'¢) Define consumer good.
 (SISTHTIA A WS |
d) - What is indifference map?
fers Tiafa e
e) Define budget line. -
M6 (1T FLH 7S | ,
1) ‘Why indifference curve is négatively sloped‘7
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What do you mean by Demonstratlon Effect‘7
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What do you mean by market equilibrium?
I SEFARY o A QAL

State the relatlonshlp between SAC and SMC.
SAC @R SMC-3 e F7~F G 34|

. What will happen to Total Product if—

(G AW O P F, TM-—

i) - Marginal Product is positive

AT TeAWA (A
ii)  Marginal Product is zero?

AT St 7 = 2

Distinguish between elastic demand and .

inelastic demand.

REl

Identify the situation where equilibrium

market price will reach the maximum with the :

change in both demand and supply.
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What- happens to. average cost when output

increases in the short-run?
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T L

.- Draw the TFC and AFC curves in short run.
FHIAR TFC @R AFC (R %A 34|
Distinguish between. cardmal and ordinal -

utility.
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2. Answer any four questions  5x4=20
.a) Explam dlagrammatxcally how- would you

,b)
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‘derive. consumer’s demand curve from the

marginal utility curve.

2 Soiife! @ (A o e v
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Show that two linear demand curves having the
same price intercept and different slopes will

have the same price elasticity at a given price. -
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_ Explain three stages of production .associated

with the law of variable proportions. .
e oo R el Beirr fon s
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How would you determine budget line?

- SyorE 06 @I F e paae

Show that the slope of a budget line is equal
to the negauve of the ratio of two commodity

pnces .

Gt A AE0 WW@WWWW ~
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What is the difference between Laws of

 Returns and Laws of Returns to Scale?
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3. Answer any two questions: . | 10%2=20
- (I 5f5 Srei Teq Wie 8 -
a)  Given the iso-product.curve of a firm and the
" prices of two inputs it used, find the condition .
that the firm must fulfil to produce —
(I TG AT (@G3R TR0 (@ 76 Sl
A (R O TN (e AR, FhoT—

i)~ a given output at the minimum possible
cost;

C N I R vﬁsnct T,
ii) the maximum output ata given total cost.
.%WW@%QMWW%' o
- R
b) Derive the long-run average cost curve from
‘ ~ the short-run average cost curves.
i 731
c) -Graphically examine the relationship among
TP, AP and MP of a factor.

T e @ SRR TP, AP @3g.
- MP—= 3> wietioat 391

d) Explain with diagram how consumer’s
equilibrium is determined by Indifference
- curves,
R @R AR e IR SEN
fdifte =1, S B S 391
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